. 4.

9. 5.

ARt &t aRumeT ST ARt Hetd & 39Td ¥ IR ST aTet foRE! @
Joeig BT

Define partnership. Discuss rules applicable in absence of partnership deed.

ff et . fal. 7 20,000 F. & T DI TRAT Pegae for. | formmn s

IMYR W WG BT 3e-1d fFaTl 8,000 . BT PTATT 1 [T 1996 & 51T
& A9 fopam T, A9 0fdr 10 wiyer arf¥es saret vd 4,000 . 6 A arfies
fepeett o geprlt T |

Prer) P Y afgal § qofi= @rar v faghdr 1 @rar Ig g 9152 fh
TS &t I AT W 10 FRIed g T S g

Shri Colliery Co. Ltd. agreed to purchase wagons on the hire-purchase
system from Bhartiya Constructions Ltd. for Rs. 20,000 were paid when
wagons were acquired on 1°* January 1996 and the balance was to be
paid by three annual instalments of Rs. 4,000 each plus interest at 10%.
Open machinery account and Vendors account in the books of the
Colliery Company, assuming that it depreciates the wagons each year
by 10% on the original cost.

31yar / OR
9TRET WA | 3T - FHSIS & ? ATV = ThR &t gt & 7

What do you understand by Branch Accounts? What are various kinds of
branches.

STt T T 98 H 9T IR & 2 QT 981 bl SuAier wase Hifg)
What is difference between Journal and Ledger? Explain the importance
of Ledger.
3reEr / OR
STHeT 3T 9T STHEA 8 ? STt § okg o o i o1 auie it
What do you mean by Journal? Discuss rules regarding entries in the

Journal.
*0e
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¥.1. FrefaRad defue 9 =R 31 91d 2008 6 AHH 8F aTet IY & TR qeiT
AT T IR e ik arf=r wfafseat g doft arar off fxarsa-
From the following trial balance, prepare Trading and profit & loss
accounts, (for the year ended 31 March 2008) also show closing and
capital account-

Particulars sfae {Debit) hfse {Credit)
Rs. Rs.
Yol / capital 10,000
A /Purchase 15,000
fawa /sales 23,000
HT aTIHT / Purchase Return 500
fasa au¥T / Sales Return 100
¥ /Discount 300
A / Wages 2,000
ddq / Salaries 600
TS/ Interest 50
fHTAT / Rent 400
%A U HIST /Carriage on Purchases 500
fama 9z st / Carriage on Sales 200
739 / Machinery 10,000
AHS /Cash 1,000
yRf*® ITTH / Opening Stock 2,000
ST /Debtors 2,350
AIIR / Creditors 1,200
T8IV / Drawings 200
34,700 34,700

(i) ®Y3./PT.0.



9. 2.

(a)

(b)

Iy & 3 T Telh 3,150 . Tl
Stock of the end of the year was of Rs. 3,150

g1 / OR

fA=AferRad § 3R sd1gd - / Differentiate the following-
(i) SATY-8I @TaT T IR QT
Profit & loss account and trading account.

(i) \de o TAT I 191/ Gross profit and net profit.

ot fo1. giaa 9l W 10 gfderd feey g~g oma 21 1.1.98 ot 9ot @
BT AY 2,43,000 . o

1.7.98 1 T HfiF 72,000 . TG 6t &S TS | fRTh o= & fofw 3,000
<. 2 gUI1.7.98 I & Tep AL ForFeh! @ 1.1.96 BT 60,000 . off, i
43,000 ®. ¥ 99 fer a1 1998 7 78 fHfad foram mam o & &Y gy
1.1.96 @ gRT A9 & T TR Hieft Jar f3fdr wr & s

JG9Th W ISV, TE I1 oifore—

Rajeev Ltd. charged depreciation at 10% p.a. on diminishing balances.
On 1.1.98 there was a balance of Rs. 2,43,000 in the machinery amount.

On 1.7.98 a new machine costing Rs. 72,000 was installed. Installation
charge amounted to Rs. 3,000. On 1.7.98 a machine costing Rs. 60,000
on 1.1.96 was sold for Rs. 43,000. If was decided in 1998 to charge the
depreciation method from diminshing balance to straight line method
with effect from 1.1.96.

Show necessary accounts assuming -
T8l @I 1 FRAT Y IR @ 2
Machinery account is to be maintained at written down value and.
Tef T P 31.12.98 | AN WR T SITaT 2 |
Machinery account is to be maintained at cost since 31.12.98
31T / OR
(ii)

YSi—2a | 31T 97 AT €7 I8 ST 2 | o IR T 2 2
What do you understand from capital expenditure? How does it differ
from revenue expenditure.

31 famR 2008 31 T, Y. vd ¥, B = anfefes fucer & -
Following is the balance-sheet of A,B & Cas on 31 December 2008 -

Liabilities Amount Assets Amount
Creditors 20,000 Bank 6,000
Reserve Fund 15,000 Stock 20,000
Capital Account Plant and tools 20,000
A 25,000 Sundry Debtors 10,000
B 15,000 40,000 Bills Receivable 10,000
C'S Capital 9,000

75,000 75,000

< fearferar & mar 3R 98 Sact 2,000 . WA IR AHT | ATSERT FHIIT Bl
frreTy feparm |

Rl J T TepR avgett go— fafdw SeR 7,500 %. W fawsr 7,000 %,
=gl 16,000., Wil Ud I 14,000 ®. 1 FHIUS Pl T 2500 .831 |
(1) afs Ift wemh <&t gl

(2) afE gsit gRad=ehtar 81 MR 919 W & 79 &7 gTer Hifrg|

Cbecome insolvent and he could pay only Rs. 2,000. It was decided to

dissolve the firm. Assets realised as follows. Sundry debtors Rs. 7,500;
B/R Rs. 7,000 stock 16,000, plant and machinery Rs. 14,000, realisation
exp. were Rs. 2,500.

Prepare accounts to close the books of firm if-
(1) Capitalis fixed
(2) Capital is fluctuating follow the rule of GarnerVs Murry.

arerar / OR
(iii) ®Y3./PT.0.



312raT/OR
faepa T faeha & SEx1g B =T Iy g7 At fashy Afrfer 1930 &
3reRta TTeT t fora TR ot fomar mar 82

What is sale or Agreement to sell? How goods are classified under
the Sales of Goods Act, 19307

fafme Arey faerg 1 AR BTl guet @ < @1 3Rl eI §C b
6 T st @ guie Hifg)

Define Negotiable instrument. Explain the meaning of Hundi and
cheque along with the characteristics of a cheque.

312raT/OR
fewofl &1- / Comment-
(31) et BT Gid / Crossing of cheques
() YHIUH / Protesting
(F) e / Noting

JUHIIT B FIT 3T g7 ST bl ure iftrepRl &Y fag=m Hifray

Define a consumer. Explain in detail the rights of a consumer.
312raT/OR
AR Herg it vy g ot foIRay| ASeR & Fdet W e Sifery)

Write the content of a partnership deed. Describe the duties of a
partner.

400

(i)
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Note : Attempt all questions. Each question carries equal marks.

T 1. SFY I 27 TP Y ITIEY & 3Maeed aw@l o faaa Hfgl

What is a contract? Describe all essential elements of a valid contract.
312raT/OR

TR D1 ARG BTG TR & I TBRI BT quH DI
Define proposal /offer. Explain the types of offer/proposal.

. 2. 3G P b oT¢ RN P Bl 87 T ST T&PRI Pl FIC iy

Who are incapable to enter into a contract? Explain in detail all
incapable parties.

31971/ OR

T gRT Puc Pl IHASY HUC g feaEuH ¥ R garsy|
Describe 'Silence as fraud'. Write the difference between Fraud and
Misrepresentation

U. 3. TRUC P Y FT ¢ ? TRUS! g gI-RET F 3R b A1 URIYL P AfIBRI
R UHIY STl / What is the Contract of Guarantee? Write the
difference between the contract of Indemnity and Guarantee along
with describing the rights of surety.

(i) ®Y3./PT.0.



Q. 3.

TIgE R ST 99 2017 F T8 SIS IR SN B @1 A P forg
TGS bl SMahdT JUT 9] Pl FHS |

Explain documentary requirements and conditions for claming input
tax credit under Input Tax Credit Rules, 2017.

3rerdr / OR
aRA B pa w AR B sy

Explain the manner of sanctioning refund.

PR Tt Ud AT R AR, 2017 % T8 AHSIT T B e
T SR Y URT 10 B TaUHl Pl FHSISY |
Explain the provisions of section 10 of the Act relating to composition
scheme under Centeral Goods and Services Tax Act 2017.

3rEar / OR
T e | MY FT T 2 T gob b Sl T Qi fFaTw
B

What do you understand by the term Custom Duty? Discuss the
objectives and the demerits of custom duty.

T gop MBIl & AfUBRI BT quie g F B
Explain the powers of the customs officers in brief.
3rEar / OR
THIp ATl TG a7 R (IGST) & dvey # wfdm feooft forRau-
Write short notes with reference to IGST act-
(A) f°Rea= I / Continous Journey
(B) Jaratt @1 faid / Export of Services
(C) a1 urHehdt &t fRIRT / Location of the recipient of services

(D) TR TR I 3cg WHBdT / Non-taxable online recipient
L XX

(i)
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Attempt any five questions. Each question carries equal marks.

HTeT UG Hal P opl 3f Ug fIowarant ol faeR & qHssy |

Explain the meaning and salient features of Goods and Services Tax.
3rEar / OR

el Td JaT PR b IR & T T prolT Jel Td [aT R Ay

6 URT 9 &b WG D A |

Explain the provisions of section 9 of the Centeral Goods and Services

Tax Act. in respect of levy of Goods and Service Tax {(G.S.T.).

T R AN AfRT GRT URT 39 & Tgd fIaxoft IReqd ot wwaelt smaumi
&I fagemr Hif)

Discuss the provisions relating to furnishing of return by taxable
person under section 39.

JYar / OR
T Td IAP Tolwe & AL A1l i YRt & Jou | F=ud waur ot
SRR Afed TS|

Explain with example the provisions relating to value of supply of
goods between principal and agent.

(i) ®Y3./PT.0.
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e : fpdl ulg wel & SR gl It gl & 3w T g |

Note : Attempt any five questions. Each question carries equal marks.

U. 1. =7 3ricpel @ el Siid hifoTe-

Calculate median from the following data-

Wages in Rs. 10-19 20-26 30-39 40-49 50-59
No. of Persons 4 6 10 8 7
3Yar / OR

et & gl STl g9 BRI d gg@ 6 fadeer S|

Define statistics. Discuss its functions and importance.

U, 2. =1 Il ¥ FHR H11ET S hifviu—

Compute Arithmetic mean from the following data-

Size 50-59 40-49 30-39 20-29 10-19
No. of items 5 8 12 9 6
FUar / OR

T atieel | STUfRr &1 Iqeie AT Td TPIes S1d Hifo -
Calculate the Quartile measure and Coefficient of Dispersien from
the following data-

Wages (Rs.) 3 9 15 21 27 33 39
No. of Person 20 18 15 12 10 8 4

(i) ®Y3./PT.0.



v. 3. 1 srieel & yII-faae @ SHe OIS S HRY-

9. 4.

Calculate Standard Deviation and its coefficient from the following
data-

Name of workers No. of units produced in a day

A 10
B 25
C 13
D 8
E 20
F 12
G 31
3re@l / OR

T atienel & ISt BT fawwar T ST IR |

Calculate Bowley's Coefficient of Skewness from the following data-
Marks 0-5 5-10 10-15 15-20 20-25 25-30 30-35
No. of Student 5 12 20 32 15 9 7

125 fgaal & A Mg-fIeRer & fo@Ror e 1 Hel T &
ferwaT Tories Bt o HT -

Calculate the coefficient of variation and Karl Pearson's coefficient of
skewness for the following age distribution of 125 persons-

Age under (inyears) 10 20 30 40 50 60 70 80
No of Persons 5 15 30 50 80 100 120 125

@l / OR

(i)

=T ept @ fheR & aTgel Fadies & T Hifvig-

Construct Fishter's Ideal Index Number from the following data-

Base year Currentyear
Articles
Price per unit Expenditure Quantity Expenditure
A 40 240 7 210
B 4 16 8 40
C 45 180 5 250
D 5 25 6 60

. = At @ Q1 Ul FfeReT de ARy e &AM S

From the following data, determine the two regression equations and
find out value of coefficient of cor-relations-

X 3 4 6 7 10
9 11 14 15 16
@l / OR

=1 e A HEge! qAT 95D S DifTg—

Find out median and mode from the following data-
Marks out of 30 6-10 11-15 16-20 21-25 26-30
No. of Students 20 30 50 40 10

400

(iii)



¥. 3. WRT oW fqorastier <or 7 doft fomifor iy efiwdt wfey & or sargw qer Gt

fomior ot geraT < % geIa ATl

Explain the causes of low capital formation in developing countries like
India and give suggestions for incouragement of capital formation. 14

3Er / OR
T HIFTT 3R @R F FERar @ Sh IRERG TR B FHEU

Clarify the concepts of total cost, average cost and marginal cost of
a firm and explain their inter relationship with the help of diagrams.

‘e fruiRer &AM Rigra’ & FHEEy)

Explain the 'General theory of value'. 14
3Yar / OR

SEITUPR | MY TN TS §? SIUUPR & i Jed T4 I

R 6t @R BT

What do you mean by Oligopoly? Explain the determination of price
and production under Oligopoly.

Toigd fruier & snyfes fagra A w@ ot fagra @1 et
fageiwur FIfSTTl / Critically analyse the Modern theory (Demand and
Supply Theory) of wages. 14

sIgar / OR
ST 3T b Ry Tl I 3 wd e whentur & Hed Ay
Pl AT AT P PR TG IR & AMYR R T BT

Define National Income. Explain the relation between National Income
and Economic welfare on the basis of size and distribution of National
Income. 14

*e
(i)
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Note : Attempt all questions. Each question carries equal marks.

. 1. e sefare @ aRaidd Hifsrel el ol § e

areferresy it gftrepr Bt fadg Hifd)

Define Business Economics. Explain the role of Business Economics

in Business Decisions. 14
3Yar / OR

o Iufar 791 w6 sren HRTT JoT 3HE AL 8F & HR
T4 OEd W WP SIferu

Explain the law of Diminishing marginal utility and throw light on the
reasons of the operation and importance of the law.

Y. 2. T & g $ eren ST gor 596 T STl &1 fadeT Hifm
Explain the law of Demand and comment on its main exceptions. 14
3Yar / OR
M & Ufhell bt @I o HERIAT | ¥ase hiforg|

Explain the returns to scale with the help of diagrams.

(i) ®Y3./PT.0.
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Attempt all questions. Each question carries equal marks.

IOCT A 37T T FH 8?2 T9IC o T Ieed Dl FHeTRY | Iore B ey
g g f FmEgd

What do you mean by Budgeting? Explain its objective. Also explain
its advantages and limitations.

JYar /OR

qOC FEGT F T G 27 UUIGATSH I & aede [ Pl
I |

What is Budget Co-ordination? Explain essentials of an effective
Budgeting.

TR GaTgHT 1 ARATNG BT | @TaTiies aidH & T R
I AT |

Define Business Forecasting. Explain the different theories of
Business forecasting.

3Yyar / OR

(i) %Y. /PT.0.



9. 3.

=1 foepar sridsl | a¥ 2007 & o faepa o1 SR @R -

From the following sales data calculate sale for the year 2007-

Year/ a¥ 2002 2003 2004 2005 2006
Sales/ fasrmr 83 92 71 90 169
(In Lakh/ @@t )

gotct o oo g, fopamefierd td atgefierar & MR W SR
Explain the classification of Budget according to time, activity and
flexibility.

3rqdar / OR

o 3Tichel | 9RG TrewHTESIT T 80 WRYed @ 100 ufderd feramefierar
¥ FR P AGGR g9l TIR DUl Mept 60 Hfarerd feramefierar & =)
R o gaee <& &

From the following information prepare a flexible Budget for Shard

Enterprises for 80% & 100%, you have provided of information for
60% as follows-

(a) Production @ 60% activity 600 unit

(b) Material Rs. 100 per unit

(c) Labour (Direct) Rs. 40 per unit

(d) Other Direct expenses Rs. 10 per unit

(e) Factory over heads Rs. 40,000 (40% fixed)
(f)  Administrative expenses Rs. 30,000 (30% fixed)
(g) Selling & Distribution exp. Rs. 20,000 (100% fixed)
(h) Selling price Rs. 400

RAehS ToIc &1 &7 39b I T Ui PI| g Toie TR B Dl fafdr
B R & aHE|

What is Cash Budget? What are the main objectives of Cash Budget?
Explain the process of preparing a Cash Budget.

3gar / OR

(i)

fo R fewqofy fomal- / Wrrite short note on following -
(i) SET §9ic / Production Budget
(i) AR §5ic / Master Budget

o ama IRy | o @ wHer €2 fo aRfRRfR 3 oo weey
Tepich T STANT I & TFerg S|

What do you mean by Margineal Cost Method? In what situations
you will suggest to management to use this method.

3gar / OR

IOIR § TG & T 7 @ P PRI Th 3hIs 60 IT eMar R B
PR TG g | AT D gAHE NI IR T TR -

A unit is working on 60% capacity level because of less demand in
the market. The present cost structure of company as follows-

Rs. Per Unit

Direct material 2
Direct wages 1
Variable overhead 3
Fixed overhead 2

Total 8
Production per month 30,000 Units
Total cost of production Rs. 2,60,000
Selling price Rs. 2,40,000
Loss Rs. 20,000

FXAT Pl 7 3. Ul gb1s T & A 15,000 ThIS HfTHIE S99 T IRTa forett
2, T TXAT T Yg IRATT IR BT 12T ?
Company get a order to product 15,000 unit on Rs. 7 per unit per

month. Should company accept this order or not?
* 0

(i)



